LOSUNG zu bsp-7974-1/VVRR

Arbeitsblatt

17.09.2014
Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 7974

Aufgabe 1

Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

a) 24+ (—42) = |66 -18]18/66]  b) 71 — (~26) = [.97]|45]/45][97|

¢) 56 + (—86) = | 14230 [ 30][142]  d) 65 — (—54) = KO 11][119)]
¢) 5 — (=71) = 76]|66][66][76]  f) 72+ (-21) = |93]| .51 51] 9]

Aufgabe 2

Quick:
7974

Quick:
7974

Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

)12+( 26) = | -3€]|-14 | 147 38] b) 40 — 22 = |-67]|_18 18]/ 67]

¢) 32 — (~34) =[-66 2] 2][66] d) (~25) — 33 = [-58][-&][8][58]
e) (—21) +2o @I@@ ) (~3) — (~19) = [-27][-16][16][27]
g) (-9 = [36][20][20][38] ) (-35) + 27 =[-67] 8] 8][67]
i) (—1 )—25—\ -43][ 7|7 48] j)39—7 \%\\%\\32\%

Aufgabe 3

Quick:
7974

Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

a) (—20) + \/2§H Ljrf2g]  b) (-15) +46—!ﬁfHﬁTH31\L6ﬂ

c) 17+ (=3 \/ng 15] 157|491 d) 40 + (—10) = [;50][-30][30][50]
e) (-17) + (-10) = [27|[A[7N[21] ) 13+< 35 — [48][22][22]48]
g) 1 < \/ﬂ [30]39741] ) 15+ (~17) = [39][2][2][37]

i) (- ) =[BAEE] ) (—46) + < 7 = [53][-39][397[53]
Aufgabe4

Quick:
7974

Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

a) (—36) — (—22) = | 58] -14] 47| 58] b) 100 — (—64) = |-167] 361 36]| 164
c) (- 81> ( 92) = |-173]| 41| 11]173] d) 60 — 9 =|-69] 57| 51/ 69]

e) (~98) - <6> oa]-92][97]1ed]  f) 35 — 31 = [-66 [4][4][66]

g) (=77) — = [-84][-70 | 70| 34 h) (—15) — 69 = | -84 -54]| 54]| 84

i) (- 16)—25— 199041 j) 86 — 50 = [-136][-36](36][136]

Viel Erfolg!
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